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𝑘 = 5𝑥 𝑣𝑒 𝑒 = 3𝑥

3𝑥 = 5𝑥.
𝑎

100

𝑎 = 60
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𝑎𝑟𝑎𝑑𝑎𝑘𝑖 𝑓𝑎𝑟𝑘 % 15

%15′𝑖 300 𝑖𝑠𝑒
% 20′𝑖 𝑥 𝑜𝑙𝑢𝑟

𝑥. 15 = 300.20

𝑥 = 400

2.yol:
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2.yol 𝑑𝑒𝑝𝑜 100𝑥 𝑜𝑙𝑠𝑢𝑛
60𝑥 + 1200 = 75𝑥

1200 = 15𝑥
𝑥 = 80

𝑑𝑒𝑝𝑜 = 100𝑥 = 100.80 = 8000 𝑜𝑙𝑢𝑟

3.Yol    % 15 ′𝑖 1200 𝑖𝑠𝑒

%100 𝑥 𝑜𝑙𝑢𝑟

𝑥 = 8000
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2.Yol     𝑑𝑒𝑝𝑜 = 100𝑥 𝑜𝑙𝑠𝑢𝑛

80𝑥 − 80𝑥.
60

100
+ 180 = 50𝑥

80𝑥 − 48𝑥 + 180 = 50𝑥

18𝑥 = 180

𝑥 = 10

𝑑𝑒𝑝𝑜 = 100𝑥 = 100.10 = 1000
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2.yol: 𝐴 𝑠𝚤𝑛𝚤𝑓𝚤 𝑚𝑒𝑣𝑐𝑢𝑑𝑢 100𝑥 𝑣𝑒 𝐵 𝑠𝚤𝑛𝚤𝑓𝚤 𝑚𝑒𝑣𝑐𝑢𝑑𝑢 100𝑦 𝑜𝑙𝑠𝑢𝑛
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40𝑥 + 60𝑦 = 100𝑥 + 100𝑦 .
48

100

40𝑥 + 60𝑦 = 48𝑥 + 48𝑦

12𝑦 = 8𝑥
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